| Efficiency vs Dxy |
1.2

efficiency vs dxy

o

o2f -t AR -

Ratio

09551510~ & 0 B 16 1520
TP dxy (cm)

—=— DM CKF-testLowPt 100Uevt
T DM R SR e oY D 0evt
1c1 m | | esiLow ev
| Efficiency vs Dz | | —— BN mKEIREFI-OR festLowrt, 1000evt
12 . DOM mKFi

|tREF|t OR2 testLowPt “1000evt

.....................................................................

efficiency vs dz
=

o
0
I

.....................................................................

o
o)
I

O

f\_llllﬁlllliI"I" il“l*llﬁllllﬁllll

093556 =10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


